REF

75017.8 2022-10-19

Cns o gl

Cross / Cross 5/ Cross 6 37,5-475cm Etac

Cross XL/ Cross 5 XL 475 cm Etac

Twin 375-475cm Etac

Transit 40 -45cm Etac *Transit Il 16"

1

Etac Supply Center AB
Langgatan 12

SE-334 33 Anderstorp
www.etac.com

C€ [MD










Cross 5, Cross 6







'_J—_,‘/ﬁm

—







B

N
A
4
3

2

5
z
3

&)

5
z
3

[
-]
4
3

&)

5
F4
3

2

5
z
3

© o o o o 0 o
£

200078

| 9306 |

91571

2=
3

UB200624K

UB91571 Monteringsbeslag POM Mounting bracket POM 2
UB9306 Monteringsbygel skal 35 mm Mounting bracket basin 35 mm 2
UB200006E | Monteringsvinkel kort Mounting angle short 2
UB200011 Stallbeslag bak Steel bracket rear 2
UB200078 Platta for monteringsbeslag yttre | Fittings bracket front 2
UB200012E | Fastarm 140 mm hoger Mounting arm 140 mm ri 1
UB200012F | Fastarm 140 mm vanster Mounting arm 140 mm le 1
UB200017 Tryckdel inkl. gaskolv Pressure part compl 1
UB200034 Bygelstopp Bolt for bow 2
11592 Skruv M6x14 MF65 Screw M 4x 12 M6S fzb 4
11264 Skruv M 6x 20 MF6S 8.8 svkr Screw M 6x 20 MF6S 8.8 4
82576 Plasthylsa Plastic sleeve Lille Viking 2




